
Answers

There are 6 shoes altogether. 
We put 2 in each box. 
There are 3 groups.

6 ÷ 2 = 3

2 × 3 = 6

There are 12 flip-flops in total. 
Each pair has 2 flip-flops. 
There are 6 pairs of flip-flops.

12 ÷ 2 = 6

2 × 6 = 12

10 ÷ 2 > 8 divided by 2 

20 split up into groups of 2 = 20 ÷ 2 

12 shared between 2 < 2 ÷ 2 

24 divided by 2 > 12 ÷ 2 

10 shared between 2 = 5 ÷ 2 

8 ÷ 2 = 
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Answers

Two children sit at each table. How many tables do I 
need for 20 children? 
20 ÷ 2 = 10 
I need ten tables.

John has 18p in 2p coins. How many 2p coins does 
he have? 
18 ÷ 2 = 9 
John has nine 2p coins.

I put 2 sausages on each plate. 
I have 12 sausages. How many plates do I need? 
12 ÷ 2 = 6 
I need six plates.

How many groups of 2 can I make with 14? 
14 ÷ 2 = 7

How many 2s are there in 16? 
16 ÷ 2 = 8
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